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Who is the oldest?

Tim is older than John

John is older than Mark

Kate is younger than John

Mark is the youngest.

oldest = youngest

- - -

Who has the longest legs?
Tom’s legs are longer than Ken’s
Mike’s legs are longer than Tom’s
Bob’s legs are shorter than Tom’s
Ken’s legs are the shortest of them all.

longest = shortest

- - -

Which is the fastest?
The train is slower than the bike
The car is faster than the horse
The bike is faster than the bicycle
The horse is faster than the bike
The bicycle is the slowest.

fastest = slowest

- - - -




